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1. (2008 GCT-1)

E-commerce has witnessed a growth these years.

A. fixed B. stable C. steady D. regular

ExR: C

R “lixed” EREUINEE M7 “stable” AR E M7 “steady” B R S A [E
19”5 “regular” BN RERY” . 3X80 g 00 VAT . KRB AT 40 B0 20 A 4k dRc i 1Y
A “steady”— AR L R 5 A F P A IR E) “ these years” AH XS I . C B £F & A 4] 1
AT 8, 42 ) O T R 5 A I SR AR R AR IS

5l 2. (2008 GCT-3)

It was me to interpret the thoughts swimming behind his eyes.

A. below B. beyond C. past D. above

E®:B

TR ARG G I P AR [ E #5 L “be beyond someone” B N T R A fE
37 o A 3% T BRG] AR A TR A B IRC . A 4 R R TR e LA A Al IR S T A
TR GE B AR

51 3. (2008 GCT-7)

Rock singers, hip-hop dancers, and hippies all have distinct hair style, to

their group.

A. peculiar B. especial C. special D. particular



SHT—€COD RXHFIBE T RFHFHLOO

R A B AN R K

ER: A
TERE . AR A OC H R A R O U A B R O] 2 ) B A 2 ) R Tk . U A I
CLA /D RS BCIE# . A7 1R SCEOR . HAL 2 T 76 JH % B AN BE S ) A9 41 1] “ to”

FEBC .
Bl 4. (2004 GCT-2)
People who walk on the grass are to a fine of $5.
A. possible B. likely C. liable D. reliable
Ex:C

FERE . AR R R B M T K 5 SR T AN A S R [ LI AL N
“be liable to” J5 THI #R 44 4] » S — > [ & 8] 41, B0 “H A T RE ZE M I 7. “possible” il
“likely” Ay [A) ) im) fH HAJ R A BT A [R] . “It is possible for sb. to do sth. ” fl1“Somebody is
likely to do sth. 7, B R H I AP REMIE T, “reliable” B B Al g 197, AFF & AR Y

ISP

1.2 AEEHE

I TR ] PRV R AR TS 2 T B R R R A ANE EE LR — SE AR R 2 AL,
B 22 Bk . T 2 PV RS0 R A 1 F SO Bk . (G R R 1 14
A B AT B AE B,

Bl 1. (2005 GCT-10)

There is going to be ~ time for people to assess whether or not we have made

the right decision in this time of urgency.

A. sufficient B. additional C. efficient D. consequent

EE: A

FERE X USRI B BRSO AR B Ty . SO Y DG AR T X A B ] B R
BEHIEFER ., “sufficient” B B N B HY”7; “additional” Z B H %N 7 “efficient” &

ORI “consequent” B NS5 I A” . W F A A B IR A “ B 8] Cime) ™, B LAY
ik A,
5] 2. (2006 GCT-8)

Magicians use techniques from science and the arts to deceive the mind
and eye.

A. generously B. genetically C. cleverly D. subsequently

Ex:C

R ABROCHE E R AR R, HA C I BRI Y Celeverly) ” By 2 LA
HiEE. AT generously” & LA “HRE A9 75 B I “ genetically” B B B “st £ 19”5 D I

“subsequently” B A F R BT, 33X 3% T A BRI AEANE LA SE AR L H R A — ANk T

Jzﬁ
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RS L CEEMEE.
5] 3. (2003 GCT-1)

The new currency will get into soon.

A. circuit B. circulation C. circular D. circle i
ZEXR: B i
R MR TR E RS IR 4% s, “get/go into circulation” £ #F AL IE  #EA i

1357 o HoAl B4 28 29U T 4 Y ) ok R 30T 7 e ) o B R SRR X
1.3 BElERARE

Bl 1. (2004 GCT-6)

John Smith, being a diligent student, never refuses to more responsibilities
that are assigned to him.

A. take up B. take in C. take off D. take on

ER:D

BT« O DU 410 B R ke up” B L B MO0 R
“take in” BN HEE A TR S MORE R HO 0 OB b taken
"B 1M R I take of "R (LB €7 “take on” BRI R T —
MR 55 TAE” S . 2 ny BR85S B I iy 2 4 4 1 2 19 AT 55 e
Aiigs”

5] 2. (2004 GCT-10)

Becoming aware of our mother’s age,not just in numbers of years but her

psychological and physical state,often helps us to understand her better.

A. in spite of B. on account of C. in terms of D. by means of

ER: C

ER WARAREEAR: “in spite of 7B A “ILE; “on account of " & < ih
T75 “in terms of "RERLN R e R YL s AR T s “by means of VR i@ At DL oo

17527 N B AR R A ) A C IR GE A AR I S S, i EECY . I REE
AR AN 2 B AR50 38 A I 1 RN B UK 7 T8 (8 ER 0 8 A B T AT S G b A
Bl 3. (2005 GCT-9)
Today’s popular clothing chains teenagers, who can be counted upon to

change their tastes every 30 days.

A. resort to B. attend to C. appeal to D. apply to
ER: C
R N R I 5 A 1 o SRR BB X . A T resort to” i BRI

B i “attend to” ) F N0 AR C I appeal to” YA A5 J175 D Ti“apply

ﬂ
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to” MR E M T AR R R D B B AT I R S BT X A ARAR A 51 T AT
AT LIRS I 26 B % A 30 Rtk L —F A & B U

1.4 BEEEREAE

fl 1. (2005 GCT-D)

To speed  your entry,please bring your Admission Card with you.
A. up B. on C. cut D. down
EE:A

ERE: “speed up”hy [E REBCIA A L BRI AR Y O TR A ER
07 W 9 1 AR NG T = R 1 L T 7 N el il A W < S e S A €

Bl 2. (2004 GCT-5)

Dr. Hawking has made much contribution to the theories of modern physics at the

of his health.

A. cost B. disposal C. mercy D. expenditure

Ex: A

R A U E RS IR ZH 09 . “at the cost of VR UL AR5
“at the disposal of " B J“4 F-+--++”; “at the mercy of "Z B H“F e Y 52 M (PS4 7

“at the expenditure of 7 N IRFEAD . W 1Z 42 “at the expense of”, 5“at the cost of”Jy [F] X i
. AR B A T Db A B A AR A BB Uy AR T E R TR .

51 3. (2003 GCT-4)

Many old people in the cities find themselves unable to get used to the rapid
of city life.

A. rate B. speed C. step D. pace

Ex:D

FERE: “pace of life” M EZ“ANETT 227, J8 T 18 Rl 2 A T 1Y 7% Ao LG I35 46 1Y G B 2
BLHE FI 2K “pace of life” X AR AL, 5 life” 5 BC 1Y H AEJE “pace” ., HoAth [a] SCin) % 351 1) 1]
BAE M AR FR A IR

1.5 ERERTEE

$ 1. (2006 GCT-5)

You should use and natural language when you write a personal letter.
A. formal B. political C. magic D. plain
E®:D

ERE . AR R R S R E 8 I A BRI AR R O B
— B A AR 0 R T R R and T HTJE A B AN TR RO ISR XS E R . HAA

|+
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I D #9“ plain” F1E SCH A9 “natural” IR FI AT K R .
5] 2. (2007 GCT-3)

In space, and equipment need many forms of protection.
A. pilots B. engineers C. astronauts D. scientists
EX: C

FERE . AR B R OE A B A R B MR B “in space (FE K 7ZS)”, HA C T [y “astronauts
TR 53D 7 5 i A o 45 (FE R 25 A7 BLERIK R

Bl 3. (2006 GCT-10)

Chocolate manufacturers blend many types of beans to yield and color
desired in the final product.

A. the shape B. the flavor C. the function D. the brand

EXR: B

ER . AU SRR B AR A R . A B IR 1R (the flavor) " #1Z §A] “and” J5
THT P “ B € Ceolor) " FF AN AR O R o HAW L T0 14 A 2840 23 (4] 1 0 A2 m 2k 5 3

2 13 £ C AR ER

Directions(Z154) .
There are ten incomplete sentences in this part. For each sentence there are four
choices marked A ,B,C and D. Choose the one that best completes the sentence. Mark your

answer on the ANSWER SHEET with a single line through the center.
2.1 2015 GCT @i/

2. Her ankle caught on a stone,and she almost lost her

A. mind B. way C. balance D. strength

4. Bill’s chance of winning is .

A. slender B. lean C. skinny D. few

6. Academic freedom refers to the right to pursue what one believes to be
the truth.

A. purposely B. primarily C. presently D. promptly

8. Humans are very sociable creatures,so they need to with other people.

A. interact B. interpret C. integrate D. interfere

10. The company did not sell a single car for a month and had to its
workers.

A. lay out B. lay off C. lay aside D. lay down

;L

i
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2. Ex:. C

FERE . AL A PUAS PRI A BC A RO TR] R C A R R e LA Rl 2 A A AR
Ak EREREXR,

4. BR: A

R 441 chance” 5 J5 [ A JE 45 18] “ slender” #5 L » B 8 R “ ML AR HE . L Ath 36 150
52" chance” N &L .

6. EX:. B

FERE . 0T LR DU A 6 AR A S A% PR ) B — kL T DA B IR R T
e S,

8. HEXR: A

ER . R e — RS AR . AT I RN A — A" sociable” ., 15 T4 2R (1Y
“interact”AHXS L. 4RO NSRS S WL BT ARG 2 A Z MTACE”

10. £%:. B

ER AEURRARSRE S “lay oflVEEON R AT G LTSGR . RN
AN A ARBTG5

2.2 2014 GCT i®CE:

3. We interviewed ten but did not find anyone suitable.

A. companions B. opponents C. candidates D. partners
4. The radical policy was rejected a more cautious one.

A. in honor of B. in time of C. in spite of D. in favor of

6. I need new heels on these shoes; the present ones are

A. worn down B. knocked down C. kept down D. taken down

7. T can’t tell you how I am to you for having listened to me.

A. helpful B. faithful C. grateful D. useful

10. It wouldn’t do you any to work a bit harder.

A. injury B. harm C. wound D. hurt

3. & C

R AP A interview” — TR dEF OCHE  DUR TR A B . BOZ AW AR
Yy SR AE AR B 1A 35 19428 28 A (candidate) , i U R 2 C.

4. E®:D

FERE . “radical” GEFEAY) A cautious” (P AY) &2 2 i), “ 5 P (rejected) ” T ik 1 L
L HA e (in favor o) "B SR E AYBCR . HA R 00 A9 2 AR IS & TR B

6. HX: A

ERE . AR A gy i) 2R B DR . AW AR 2R IR T W% “ wear down”,

JL



B A A G RN R AR

7. BR. C
R VIZEEAATER FIE TR D7, R R EGR VT T IE 7, 1 A TR B 15
HRELSR F 182 IR (you) "I B2 S8 A RE A5 38 .

10. £%:. B
R OANC B AN —RERATWER, “EEFNHAEL. HAMIE
S C 2 “do harm to”, FE R “Xfeeeeee T H A TR A R AR T H A A R

2.3 2013 GCT idiC&

1. No ready technical data available, we managed to them.

A. go down B. go off C. go up D. go without

2. The basic causes are unknown though certain conditions that may lead to cancer
have been .

A. identified B. guaranteed C. notified D. conveyed

4. The actor and actress provided superb interpretations of their roles.

A. respectful B. respective C. respecting D. respected

7. Computers 5% of the country’s commercial electricity consumption.

A. pay for B. stand for C. account for D. provide for

8. The museum has been temporarily closed the public.

A. with B. to C. on D. for

1. #%:D

EFE . “go without” B R “BAT - WHE N AT RAT i 241 0 2 R AE A ol DLF
Faad . 4 O RS A IR BOR BERE AT L AT R AR RS S R T

2. BER:A

R AR E SR IE T S0 5 R R RS Z N S . “identify” B4R F] 7,

5 A)F 12 1 certain conditions” #XF I . 4R R R A E I SEAR R EUOR B L H B &
KT A AT RE S BURAE 1 3L S

4. ZFE: B

R HALEWAA 2 E R, HA B I “respective” Z 435110 AR RS,
SR ER R H A AR R R e R T KA A AA,

7. ER: C

FERE . “pay for”BE NI, “stand for” BE R E IR, “provided for” 2 B H“#
7, “account for” Z A A MR, (eeeeee A )7 A ] 2 R S TSR A A R 2R T
IG5

8. EX: B

iERE: “closed to the public” & BN AR A ARTFH” & T 1 % #5 BT . A 68 HI HABA 17

i

A
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2.4 2012 GCT ialiC&

1. I realized I had let myself in something from which there was no turning

A. around B. back C. away D. down

4. Those close to him are that he hopes to stay on till the end of his term.
A. ensured B. confirmed C. supposed D. convinced

5. Working women haven’t left the family role behind: now they are to

work even harder to do both.

A. expected B. wished C. hoped D. desired

6. Modem technology has brought communication between people far apart.
A. competent B. convenient C. conscious D. complete

7. Under no are children allowed to tell lies to their parents.

A. circumstances B. situations C. occasions D. moments

L HE:C

ERE. “turn away" BRECABR G A E A FEE, “turn around” BB AN H 7,
“turn back”Z E KM & . [\3L”, “turn down sth. "EE H“J54"7 .

4. . D

ERE . A “convinced” — 1R FE M A7) A A4 VR IE B L 5 8 R <42 B9 AR M5 b 7 22 B AT
S w7, HA I B8 s R AN A IR R R

50 BR:A

FERE . AT SR Pk R BE B AT A S o BN g A S5 BTG K 3 e
SNEAREOR . 4] 2R WO A Lo I 18 il 7 78 5762 P 493 T8 1 #f 68 A ATTiE A B A1 7
HK 55 M TAE AN J7 SN 8% 077 HoAh s 20 FH v a2 LA R

6. HE: B

R AL R A “convenient " E AT A BT SCEOR . ) BECE BAE AR S
AR AR 2 0 AATTA 2R T 5 (B IR B aC i . A A RE 1 197 A C 30 A B3R 07 R84 A
Y. DI AR A LR,

T.ER:A

R ATENCEE T e W 485 B % A5 . “under no circumstances” & 88 A AT o] 1
N7 )8 T4 2 R A T4 I8 3k BT LA T 09 Bl 3l i) Rl TR T S R A5 . B IIUHT I Y
AR W IZ SR “in” . C WUFT A A A 38 R “on” . “moments” /i 0 — M A 18] “at”

2.5 2011 GCT ia@liC&

1. If the car you have rented is clearly unsatisfactory,you can always it for another.

A. shift B. exchange C. switch D. replace

Jsj
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2. Every manager needs a secretary that he can to take care of something

that may occur in his absence.

A. bring on B. hold on C. count on D. focus on
3. The shirt is a real bargain because it is good in quality and in price. i
A. valuable B. remarkable C. available D. reasonable i

7. In this advanced course,students are required to take performance tests at monthly 5

A. gaps B. lengths C. distances D. intervals
8. American women were the right to vote until 1920.

A. ignored B. refused C. derived D. denied
1 #%: B

R AU AEm )RR R BEE.BHEAXERAFR. RA B A
“exchange” — R fF & MU, WAL BN S ¥ — Wi 427,

E*% “count on” F R UREE MG EBA G LM ER . HAL B E A A
AR PRI . 4 A RO R 28 PRER S B — N E 5 A 09 A B A R AR AT 34
FIE” .

3. L. D

ERE . T BNk IE 18 & “reasonable (B FRAY) 7, i#18 “and” R J5 N FFEH) K R .

AR KA AR RN T T i,

7. &% D

AR AUE T E B4 E S, “at intervals” iy [# 2 W 4. “at monthly
intervals” B R H —K”, BT HMEHAZEBOER AR50 a”#E 8 .

8. ZXE. D

FERE . “ignore” B IECNCZM; “refuse” BB CRHIELL” s “derive” BB HIEF]”; “deny”
BHUONRNME BT, mEERN D,

2.6 2010 GCT i#iCE

1. T cannot your plan, for I see no money return for the pursuit.

A. argue with B. approve of C. turn down D. give up

2. The thief was so by the bright lights and barking dogs that he left
hastily.

A. frightened B. annoyed C. puzzled D. disappointed

7. Since any answer may bring to his government, the spokesman tried to

avoid the question.

LL
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A. embarrassment B. commitment

C. failure D. benefit

8. It is possible for a person to negative attitudes and gain healthy
confidence needed to realize his or her dreams.

A. get away with B. get rid of

C. get out of D. get along with

10. If you miss the cultural references a word, you're very likely to miss its
meaning.

A. below B. before C. behind D. beyond

1. £%: B

AR AME—ITHERRR: HAFEAB M, frl AR SR, B IR
“approve of’ﬁmjﬂ“ﬂj‘”ﬁ\‘f\ﬁeﬁk” C Wi“turn down” = B K 4”; D Ii“give up” &

T XA 8 BT LR R B BE . A T “argue with” B R R 5 eeee %
/‘”v*ﬂﬁak 5N Z 8 A] DL 4 i B iU s, 10 AR A B 4 18] 22 35 4 “your plan”, B DLt 3
FEiR

2. BE. A

Eﬁ- ATZER“EN”: BB EEAER”:; CHEERN®REK"; DIEE K

) BRI S A KT G VR iy () J R BT /M

7.§$~A

R AR MR B IR C I E R D TRy
EME 1R D =05 i Rl B o (N T2 3 2 S @ K 3 U D A= NS W G B0 1 5 S L1 T

8. HE®E: B

R ATEE NN ET BUHEENWFET: CHEE RS DIEE M
7, A ﬁﬂﬁ%%ﬁm(fi/flqjE’JLﬂ“and”*J):FHﬂEI’JXTtK@%k J T Y “ gain($K48) 7 5
HUTET BI040 5 f) 5 S TR e AR B, BT DL IR A R

10. Z£:. D

FERE . JiE “beyond a word” & B F I Z AN S L7, HA A SRR AT A [ G2 15 il
K. Ay O A R AR AN RE AT 4 7 1 22 A SCAR A SO IR R A T RE I i HELE L,

2.7 2009 GCT igiCE&

1. He added that the state government has made arrangements for the
conference,

A. accurate B. absolute C. adequate D. active

2. This video may be freely reproduced commercial promotion or sale.

A. as for B. except for C. thanks to D. up to

M



